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2l £X: SVM with the mir package>

One versus one
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https://www.r-bloggers.com/2019/10/support-vector-machines-with-the-mlr-package/
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from sklearn.multiclass import OneVsRestClassifier
ovr _clf = OneVsRestClassifier(SVC())
ovr clf.fi(X train, y_train)
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Multiclass and
multioutput algorithms

Muilticlass classification

Muitilabel classification

Multioutput regression

OneVsRestClassifier

MultiOutputClassifier

MultiOutputRegressor

OneVsOneClassifier

ClassifierChain

OutputCodeClassifier
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RegressorChain



https://scikit-learn.org/stable/modules/multiclass.html
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